10

1072

Ratio to Pythia 6.427 370
[N

0.5

7000 GeV pp Top (parton level)
-t .1 11|yt -t T s T
= pT (itbar) (Mtt > 450 dy > 0) =
~ _
B 1/AA - ‘\A‘ ]

A CEA iy
: '5.*5543‘“ ‘ :
— R | =
E - l‘ T\Z’ré“ 7 E
— —A— Pythia 6.427 370 A T
B Pythia 6.427 default Qe
| —a— Pythia 8.308 default T |
_l | | | | | | | | | | | | | | | 1
:l T T T | T T T T | T T T | T T I:
: \ k12 “ [/ :
- ) \ [ Al |

| " 1 1 1 " | " 1 1 1 1 " | " 1 1 1 " | " 1 1 1
0 100 200 300

Rivet 3.1.10, = 200k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


